

21st of April, 2020

NAME: OLUWADARA, Kolade Oluwagbemileke

DEPARTMENT: Electrical Electronics Engineering.

MATRIC NO: 19|ENG04|042

SERIAL NO: 106

Integrate the following with respect to their variable

(1) $3te^{2t}$ (2) $x^2 \sin x$ (3) $\sin 7x \cos 2x$ (4) $(2x - 3x^2) / (1-x)$

① $3te^{2t} dt$

let $u = 3t$; $dv = e^{2t}$

$\frac{du}{dt} = 3$; $v = \frac{e^{2t}}{2}$

$\int u dv = uv - \int v du$

$= 3t \cdot \left(\frac{e^{2t}}{2}\right) - \int \frac{e^{2t}}{2} \cdot 3$

$= \frac{3te^{2t}}{2} - \frac{3}{2} \int e^{2t}$

$= \frac{3te^{2t}}{2} - \frac{3e^{2t}}{4} + C$

② $x^2 \sin x dx$

let $u = x^2$; $dv = \sin x$

$\frac{du}{dx} = 2x$ $v = -\cos x$

$\int u dv = uv - \int v du$

$= x^2(-\cos x) - \int -\cos x \cdot (2x)$

$= -x^2 \cos x - \int -\cos x \cdot 2x$

Integrating $-2x \cos x$ by part

$$\text{let } u = -2x \quad ; \quad dv = \cos x$$

$$\frac{du}{dx} = -2 \quad v = \sin x$$

$$\int u dv = uv - \int v du$$

$$= -2x \sin x - \int \sin x \cdot (-2)$$

$$= -2x \sin x + 2 \int \sin x$$

$$= -2x \sin x - 2 \cos x + C$$

$$\therefore \int -2x \cos x = -2x \sin x - 2 \cos x + C$$

$$\text{Recall } \int x^2 \sin x dx = -x^2 \cos x - \int -2x \cos x$$

$$\text{where } \int -2x \cos x = -2x \sin x - 2 \cos x + C$$

$$\therefore \int x^2 \sin x dx = -x^2 \cos x + 2x \sin x + 2 \cos x + C$$

$$\textcircled{3} \int \sin 7x \cos 2x dx$$

$$\text{where } \sin A \cos B = \frac{1}{2} [\sin(A+B) + \sin(A-B)]$$

$$= \frac{1}{2} [\sin(7x+2x) + \sin(7x-2x)]$$

$$= \frac{1}{2} [\sin 9x + \sin 5x]$$

$$\int \sin 7x \cos 2x dx = \frac{1}{2} \int (\sin 9x + \sin 5x)$$

$$\text{Integrating } \sin qx \quad ; \quad \text{let } u = qx$$

$$\frac{du}{dx} = q \quad ; \quad dx = \frac{du}{q}$$

$$\therefore \int \sin u \cdot dx$$

$$= \int \sin u \cdot \frac{du}{q}$$

$$= \frac{1}{q} \int \sin u \cdot du$$

$$= -\frac{1}{q} \cos qx$$

$$\therefore \int \sin 5x = -\frac{1}{5} \cos 5x$$

$$\therefore \int \sin 7x \cos 2x \, dx$$

$$= \frac{1}{2} \left[\frac{-\cos 9x}{9} + \left(\frac{-\cos 5x}{5} \right) \right] + C$$

$$= \frac{-\cos 9x}{18} - \frac{\cos 5x}{10} + C$$

$$(4) \int \frac{(2x-3x^2)}{(1-x)}$$

$$= - \int \frac{x(3x-2)}{x-1} \, dx$$

$$\text{let } u = x-1 \quad ; \quad \frac{du}{dx} = 1 \quad ; \quad du = dx$$

$$x = u+1 \quad ; \quad x^2 = (u+1)^2$$

$$= \int (u+1)(3u+1)$$

$$= \int (3u^2 + 4u + 1) \, du$$

$$= \int \left(3u + \frac{4}{u} + 1 \right) \, du$$

$$= 3 \int u \, du + \int \frac{1}{u} \, du + \int 1 \, du$$

$$= 3 \left(\frac{u^2}{2} \right) + \ln u + 4u$$

$$= \ln u + \frac{3u^2}{2} + 4u$$

$$= \ln(x-1) + \frac{3(x-1)^2}{2} + 4(x-1)$$

$$\int \frac{(2x-3x^2)}{1-x} = -4(x-1) - \frac{3(x-1)^2}{2} - \ln(x-1)$$